adA] wbudn jouigen |esiaaiun ybiagpui

MNCvr69-0Cv

)

&NJIAY/ S

UNIVERSAL CABINET

IMPORTANT

* Before using this product, read this manual carefully to understand the
contents herein stated.

 After reading this manual, be sure to keep it near the product or in a
convenient place for easy reference when necessary.

.




Lindburg. indb 2

Warranty

The warranty period for this product is three months from the date of shipment from our premises.

Within the warranty period, we will repair, free of charge, any fault occurring for reasons that are

the responsibility of the manufacturer. If any fault occurs, stop using the affected product, remove

the power plug from the outlet and contact the service contact specified at the back of the manual.

This warranty is not applicable to faults occurring for any of the reasons listed below (repairs, if

possible, will require payment).

)
2
(€))
“

(&)

(6)
(7

®)
&)

(10)

(11)

Faults caused by natural disaster or other act of God.
Faults caused by flooding, or by damage from falling.
Faults caused by incorrect operation.

Faults caused by usage that contravenes the installation conditions or specification

conditions specified in this manual.

Changes caused by modifications to equipment specifications (addition to, or alteration of,
the equipment), where not specified by this company.

Faults caused by the user, whether by accident or design.

Faults caused by failure to service the machine (maintenance and inspection) at the

required intervals.
Overhauls, regular maintenance, movement and re-installation of large machines.

Faults caused by the machines other than this product.
Malfunctions (screen display disturbance etc.) caused by electrical noise generated by

other machines.

Components that are deemed to be consumable supplies.

i) Fluorescent tubes and lamps

ii)  Switches and buttons

iii) Levers and joysticks

iv) Fuses and other components

v)  Standing displays, flags and other promotional materials

vi) Items specified in this manual to be consumable supplies

Network faults not caused by the product.
i)  Network environment on the premises (LAN cables, switching hubs etc.)
ii)  Circuits, providers and other elements of the Internet environment

iii)  Server failure and similar incidents

The warranty period of chairs, cabinet stands and other options provided with this product may
differ from that of the product itself.

This company bears no liability of any kind for loss of profits or indirect damages resulting from

the inoperability of this product.

o

2/16/2007  19:11:56



L EEEE —p—

Table of contents

Warranty

Read this first

Table of contents..........coo i ———— i
Introduction to this manual..............cccconniiiini iii
Handling precautions.........cccucumreiinsri s s 1
n Installation location precautions ............ccccccciiiiiiiir s s 4
B Operation PreCautions ... 6
n Part NAmMES .....ueiiiiiieiii i ———————— 8
B o= E = T o Y == N 9
n Installation and assembly procedure...........cccoviriini e ——— 11
6-1 Installation WOrK..........i e 1
6-2 Precautions on using a service outlet ..........cccceiiiiimiii s 16
Precautions when moving the console...........cccooiiinccc e 17
n Internal switches and the coin meter ..o 18
n For mounting the control panel...........cccoii e —— 20
9-1 Replacing the control panel...........ccco i ——— 20
9-2 Replacing the instruction sheet...........ccooori s 23
m The €oiN SEIECLON ... 24
BER The monitor (LCD diSplay) ......oceoereesessessnssnsssssensenssnssossossossessesssess et oo 27
11-1 Safety precautions for handling the monitor ..........ccccciiiriiinnci s 27
11-2 Cleaning the SCreen SUIface ..........cccciiireeicrerirresrr e 28
11-3 Monitor adjustment method...........cccciniiiin e ———— 29
m Replacing the fluorescent lamp..........cccoveeimmrecncce e e 43
Replacing the game board ..........ccccciiiiiiii 45
13-1 How to remove the game board...........cccoomiiiiiiiiiiciii e 45
13-2 Replacing the desigh components...........cccccnrmmirnnn . 47
13-3 The game board power supply voltage adjustment knob............ccccccrrrrrrrrrnn. 49
m Regular inspection list........ccccvviiiiiiiii 50
E0-0603

Lindburg. indb 1

420-6942

SjuUauUo09 Jo a|qel

2/16/2007  19:11:57



Sjuauo0d Jo a|qel

Lindburg. indb 2

m Wire color reference table ... e re s e aa e a e naa s

Overall wiring diagrams.........c.ccceiiimeiinnir

2/16/2007  19:11:57



L "EEEE

——

Introduction to this manual

This manual provides information and detailed explanations on the

LINDBERGH UNIVERSAL CABINET

(T

including electronic assemblies, electrical mechanisms, maintenance management, spare parts and all other

operation-related matters.

This manual is intended to be read by the owners, managers and operators of this product. Before using this product,
read the manual and be sure that you understand it thoroughly. If this product does not operate correctly, contact
the service contact stated in this manual, and make sure nobody other than the appropriate technician touches any
internal systems. When requesting mechanical repairs or purchasing parts (consumable supplies), fill in and fax the
“On-site service request form”, “Service components order form” or “Advance loan and repair request form”. If
you lose this manual, use the “Service components order form” to obtain a replacement. This manual does not cover

compensated accidents involving personal injury or property damage, but important information is bounded by a

thick line and marked with the word “Important” and icons.

[enuew sy} 0} UoI}dONPOIIU|

&)

IMPORTANT

Incorrect operation which fails to follow these indications can impair
the performance of this product or prevent it from functioning at all.

Specification
Area required: 820mm (W) x 827mm (D)
Height: 2,097 mm
Weight: 122kg (with Lindbergh board mounted)

Power consumption, maximum current:
460W, 2A (AC230V, 60Hz)
(When using Virtua Fighter)

Monitor: 32V wide-screen LCD display

Lindburg. indb 3

2/16/2007  19:11:57



[enuew siyj} 0} uUoIdNPOoIIU|

iv

Lindburg. indb 4

Definition of maintenance staff and service engineers

A WARNING

Tasks in this manual which are specified to be performed by on-site maintenance
staff or service engineers, and tasks which are not explained by the manual, should
not be attempted by anyone who lacks the necessary level of knowledge and skill.
Electric shocks or other serious accidents could result.

N\ 7

Replacement of parts, maintenance and inspection, and repairs to malfunctions should be performed by on-site
service staff or service engineers. This manual directs that hazardous tasks, in particular, should be performed by
service engineers with the necessary specialist knowledge.

This manual defines on-site maintenance staff and service engineers as follows

On-site maintenance staff: A person with experience of the maintenance of amusement machines and
vending machines etc., who is involved in the day-to-day maintenance of
equipment in an amusement arcade or store, under the management of the
owner or operator of this product. Tasks include assembly and installation
of machines, maintenance and inspection, and the replacement of units and
consumable supplies.

On-site maintenance staff perform the following tasks:
Assembly and installation of amusement machines and vending machines
etc., maintenance and inspection, and the replacement of units and
consumable supplies.

Service engineer: A person involved in the design, manufacture, inspection and maintenance
servicing of machines for an amusement machine manufacturer. A
technical high school graduate or person with equivalent specialist
knowledge in electrical, electronic and mechanical engineering, who
is engaged in the maintenance management and repair of amusement
machines on a day-to-day basis.

Service engineers perform the following tasks:

Assembly and installation of amusement and vending machines, repair and
adjustment of electrical, electronic and mechanical components.

E; 2/16/2007  19:11:57



L "EEEE —&— (T

EB Handling precautions

When installing and inspecting this product, pay close attention to the following points and handle the machine
accordingly, to allow safe gameplay.

Improper handling, in contravention of the points below or of the precautions stated in this manual, can cause
personal injury and mechanical damage.

(¢ 0

A WARNING

e Always turn the power switch off before working on the machine. Electric shocks
or short-circuit accidents could result.
The manual will always state when it is necessary to work on the machine with
the power switched on.

e Do not plug in or unplug the power plug suddenly. Electric shocks or other
accidents could resulit.

suonnesaid Buipuey =

e Do not plug in or unplug the power plug with wet hands. Electric shocks
accidents could result.

e Do not leave power or earth cables exposed in aisles and other areas where
people walk. Exposed cables could be damaged, leading to electric shocks or
short-circuit accidents.

e Do not place objects on top of the power cable, or otherwise damage it. Electric
shocks or fires could result.

e Do not pull on the power cable unnecessarily, either during or after installation.
Electric shocks or fires could resulit.

e If the power cable is damaged, order a replacement from the vendor, or from the
office stated in this manual. Continued use with a damaged power cable could
cause fire, electric shock or ground leakage.

e A ground connection is required. Electric shocks could result without appropriate
grounding.

e Use fuses of the specified rating. Use of a fuse in excess of the specified rating
could result in fire or electric shock.

e The IC board and other connectors must be fully connected. If they are not fully
inserted, they could cause electric shocks.

o Never make any changes (additions or alterations) to the specification defined by
the manufacturer.

 Electric shocks or fires could result. Such changes could also cause the user
of the product, or others nearby, to feel unwell or suffer accidental injury.

* This company bears absolutely no liability, including for compensation to third
parties, for accidents that occur involving a product that has been altered from
its standard specification.

e Always perform regular servicing (Maintenance and inspection) as specified in
this manual.

e The current capacities for game boards in this product are 3.3V 12A, 5.0V 15A,
12V 10A. Never use game boards which require capacity above these values. Use
of such boards would cause overheating and ignition.

Lindburg. indb 1 $ 2/16/2007  19:11:58



—&— (T

e Only a logic tester should be used for circuit inspection on IC boards.

Note that normal circuit testers cannot be used.
IMPORTANT

e Use a soft, dry cloth for cleaning the surface of the monitor. Do not
use chemicals such as thinners or benzene.

e Static charge from the human body can damage electrical
components on an IC board. Before starting work on an IC board,

n always touch a grounded metal surface, or take other action to
g discharge static electricity from your body.

= e Some of the components used in this product were not designed
o and manufactured specifically for it. The manufacturers of such
© components may, for their own reasons, alter the specifications of
§ those components, or cease manufacturing them. In such cases, it
= may become impossible to repair or replace them, either during or
o after the warranty period.

()

2

Lindburg. indb 2 $ 2/16/2007  19:11:58



L "EEEE

Lindburg. indb 3

Labels

Our products have a label affixed to them stating the
product serial number and electrical specification.
Another label states the service contact for requesting
repairs and ordering parts.

When requesting repairs or making other inquiries,
check the serial number and model name before calling.
The serial number references registered information
about the product. Even for machines of the same
model, the parts used may differ depending on the time
of production. The product may also have been altered
for improvement after this manual was published. Please
state the serial number when contacting us, to enable a
rapid response in such cases.

——

Warning indications

Our products carry adhesive or attached labels or printed
markings in places where there is a potential hazard, to
warn of the risk. These warning indications are intended
to prevent customers from suffering accidents, and to
avoid risks related to maintenance work.

Some areas within the cabinet, such as high-voltage
parts, can cause accidents when touched. Pay close
attention to warning indications when servicing the
product. In particular, repair or replacement tasks not
described in this manual should only be attempted by a
service engineer with electrical knowledge. Customers
acting in contravention of warnings should stop such
actions, to avoid accidents.

(T

suonnesaid Buipuey =

2/16/2007  19:11:58



L "EEEE —&— (T

3 Installation location precautions

(¢ 0

A WARNING

This product is a game machine for indoor use. Do not install it outdoors.
Even indoors, do not install it in places such as the following: Such locations can
cause fire, electric shock, injury and breakdowns.

e Areas exposed to leakage of rain or other water, or in very humid places, such as
close to an indoor pool or shower.

e Areas exposed to direct sunlight, close to heating equipment, or other hot
places.

e Areas filled with flammable gas, or near to chemicals or hazardous substances
that are highly flammable or volatile.

e Areas with high dust concentrations.
e Inclined surfaces.

e Areas of intense vibration.

suonnesaid uoijes0| uoijejjejsuj m

e Close to safety equipment such as emergency exits and fire extinguishers.

e Areas outside the appropriate usage temperature (ambient temperature) range of
5-30 °C.

Limits of usage conditions

A WARNING

e Always check the electrical specifications.
Always check that the power source, voltage and frequency where the product
is installed match the specification. A label stating the electrical specification is
affixed to the product.
Use with a different electrical specification can cause fire and electric shock.

e The installation location must be equipped with a breaker and ground connection
for the product. If it is not used with its own breaker and ground connection, fire
and electric shock could resulit.

e Indoor wiring to the product should be single-phase 100V AC with capacity
for at least 15A 240V AC with a capacity of 13A. Use with a different electrical
specification can cause fire and electric shock.

e Always provide the product with a dedicated power supply that has a ground-
fault interrupter. If the power supply used does not have a ground-fault
interrupter, a fire could result from a ground faulit.

e Do not attempt to clean this product using high pressure equipment such as a
jetwash.

e Do not connect multiple devices through extension cables and taps. Excessive
electrical load can cause overheating and fire.

e When an extension cable is used, it must be rated at 13A or more. Use of a cable
below of the specified rating could result in fire or electric shock.

4

Lindburg. indb 4 $ 2/16/2007  19:11:59



L "EEEE —&— (T

Operating floor area

A\ WARNING

e When this product is in use, it requires an area with a minimum width of 0.9m,
and a depth of 1.6m. If a user falls over during play and bangs his or her head,
it could cause major damage, so the area specified in this manual is absolutely
necessary.

e Always provide the ventilation space specified in this manual. Do not block the
ventilation holes. Overheating and fire could result.

e This company bears absolutely no liability, including for compensation to third
parties, for accidents that occur when the product is used in an area smaller than
that specified in this manual.

\ ~

Door dimensions of at least 0.9m wide and 1.8m tall are required for
moving this product into the building.

IMPORTANT

suonnesaid uoeso| uoe|eISu| m

900mm

150mm

1600mm

00 o 00 |
086 °° ©O&o

Figure 2

A\ WARNING

To prevent accidents, allow sufficient space where this product is installed, to
accommodate busy times. If there is not enough space, customers could contact or
bump into each other, causing accidents and problems.

N\ 7

Lindburg. indb 5 $ 2/16/2007  19:11:59




L "EEEE —&— (T

K} Operation precautions

(¢ 2

A WARNING

Before starting to operate this product, check the following points to prevent
accidents:

e Operate this product under illumination that is sufficiently bright for reading the
warning indications, to avoid causing dizziness, headache or other symptoms in
players or other customers. Inadequate lighting could cause users to feel unwell,
and could also cause incidents due to contact or collision between customers.

e Be sure to adjust the monitor correctly. Do not operate the monitor with noise
or distortion in the image. An incorrectly adjusted screen image can cause
dizziness, headache or other symptoms in players or other customers.

suonnesaid uonesadQ H

e Provide rest facilities for use by any player who feels unwell.

e Check that all adjusters are touching the ground. If they are not, the cabinet
could move and cause an accident.

Please ensure that the leg adjusters are
in contact with the floor and the casters
are raised approx Smm off the surface

e Do not place heavy objects on top of this product. Falling objects or damage to
components could result.

e Do not climb on top of this product. Falling or tipping accidents could result. Use
a step ladder to inspect high parts.

e Check that none of the doors or covers are broken or missing. Electric shocks
accidents could result.

e Do not place any objects such as the following on this product, on or inside the
control panel, on the seat, on the ceiling or nearby: Electric shocks, short-circuit
accidents or damaged components could resulit.

Flower vases, plant pots, cups, water containers, cosmetics, chemicals or
containers holding water etc.

e This product is only for use in the European Union. Use of this product overseas
could cause accidents or damage.

Lindburg. indb 6 $ 2/16/2007 19112:00‘



L "EEEE —&— (T

Operating precautions (customer-related precautions)

A WARNING

Lindburg. indb 7

e Do not allow the following types of people to play on this product. Accidents or
injuries could result.
* People who cannot walk unaided.
* Hypertension and heart disease patients.

e People who have experienced muscle spasms or loss of consciousness while
playing television games etc.

* People with neck or spinal diseases.

* People strongly under the influence of alcohol.

* Pregnant women.

* People who experience motion sickness.

* People who act in contravention of the warning indications on the machine.

e People who never felt unwell as a result of light stimuli, but whose physical
condition may cause symptoms such as dizziness or headache while playing.

In particular, young, developing children are very likely to feel unwell while
playing, so instruct such children that they can only play under the supervision
of a parent or guardian.

e Advise those who have begun to feel unwell to undergo a medical examination.

e Make sure heavy objects and drinks are not placed on top of this product. They
could result in accidents due to falling objects and electric shock accidents due
to spilt drinks.

e Do not allow people to insert hands, fingers or foreign objects carelessly into the
openings or door gaps of this product. Electric shocks or short-circuit accidents
could result.

o Immediately stop anyone who leans or climbs on this product. It could tip over,
or the person could fall.

e Do not allow people to unplug the power plug. Electric shocks or short-circuit
accidents could result.

A NOTE

e Immediately stop anyone who hits, kicks or otherwise uses violence on this
product. It could break or tip over, and broken parts or the falling machine could
cause injury.

suonnesaid uonesadQ a

2/16/2007 19:12:00‘



L "EEEN —&— (T

P} Part names

U
3
s ASSY BILLBOARD
o
3
H
SERVICE PAMEL
ASSY AC UNIT -
ll| 32" LCD DISPLAY
SERVICE PANEL
COMMUNICATION Figure 4a
PAMEL
ASSY CONTROL PAMEL
SERVICE DOOR
Figure 4b
CASH BOX DOOR
Table 4 Main dimensions
Dimension
Cabinet 820 mm(W) x 827 mm(D) x 1,800 mm(H)
Complete cabinet 820 mm(W) x 827 mm(D) x 2,100 mm(H)
8

Lindburg. indb 8 $ 2/16/2007  19:12:01



L "EEEN —&— (T

3 Accessories

Check that all the parts listed below are present when delivered. Parts marked as “Spare” in the Application etc.
column are consumable parts, but are provided as spares. Refer to the back cover for consumable parts other than
those in this table.

Replacement harnesses

5]
This is an accessory which varies according to the game which is installed when the machine is shipped. The >
replacement harnesses listed below may be packed with this product as an accessory, to make it usable with our 8
Naomi/2 or Lindbergh. They will already be installed if the machine is shipped with game boards of those types. In §
future, replacement harnesses other than those below may be provided as accessories. o
1 For Naomi, Naomi2. : LCA-60027 g'
1 For Lindbergh. . LCA-60028
Table 5 List of accessories
4 )
. Master key
Part name Instruction manual
To open and close door

Part number (Q’ty) 420 - 6942UK (1)

Application etc. This manual

Explanatory diagrams

Parts with no stated part number have cither not been

registered with parts, or cannot be registered. Store such

parts carefully because it may not be possible to sell them Key

even if the user wishes to purchase them. 2)

For the cashbox door

Billboard sheet

LCA-0002 (1)

The billboard may be already attached or

packaged separately, depending on the game

which is installed when the machine is shipped. Attached to the inside of the service

door when shipped.
Anti-bacterial cap switch
253-5442 (6)

Power cable For the control panel, see chapter 9.

600-6729-01 (LM 1227 & LM1246)

For installation, refer to 6-13 @ < )
\§ J

9

Lindburg. indb 9 $ 2/16/2007  19:12:03



L "EEEN

The control box may be already attached
or packaged separately, depending on the
game which is installed when the machine is

Sub-instruction sheet

TION SPACE

RO D
& "’a"ﬁﬁwgew‘

The entry lid may be already attached or
packaged separately, depending on the game
which is installed when the machine is
shipped.

-
Instruction sheet
hi .
rJ,> shipped
o
o \
7]
o
=3
)
7]
10

Lindburg. indb 10

2/16/2007  19:12:03



L "EEEE —&— (T

3 Installation and assembly instructions

6-1 Installation work

A WARNING

Install this product as described in this manual. Improper installation may result in
personal injury and mechanical damage.

Installation of this product consists of the following three main steps:

Billboard attachment
Fastening in the installation location (adjustment of the adjusters)

Connection of power supply and ground connections

Tools required for installation :@

Philips screwdriver (for M4 screws)

suononusuil Ajquiasse pue uoljejjeisu| a

(7
(@4 N

Socket wrench
(for M6 hexagonal bolts and nuts)

e
24mm

Spanner (for M16 hexagonal bolts)

.

Width across
flats

11

Lindburg. indb 11 $ 2/16/2007 19:12:04\‘



L "EEEE —&—

1 Attaching the billboard

1 Use four hexagonal bolts to attach the billboard holder to the cabinet.

5
n
& ASSY BILLBOARD
o
= [ e o
o = a I||
= = i
: |
2 a
& i :
g il', Il

e :
] i
3 i
=2 i
< i -
5 =il
2 \
- e
c
(o] ®
(= ' @%
o T
@ : .

L - @%
S o j"#
\h ..-—:f»';"f’ |
/117:"
.‘\\ "d__ﬂ“"J =—==
Figure 6.1a

12

Lindburg. indb 12 :‘t

2/16/2007 19:12:04\‘



L "EEEE —&— (T

2 Fastening in the installation location (adjustment of the adjusters)

A WARNING

Make sure all adjusters touch the floor. If they do not, the cabinet could move and
cause an accident.

o "

There are four casters and four adjusters on the bottom of the cabinet. Once the installation position is determined,
move the adjusters down to the ground and adjust them so that this product is level.

1 Move the machine to the installation position.

[0l

Bring the adjusters into contact with the ground. Use a spanner to
adjust the four adjusters so that the product is held level.

/

i

LEG ADJUSTERS

Figure6.1c Underside plan
/@M o
¥smm %

Figure6.1c Underside plan

) Ysmm

150mm
M
Figure 6.1e Figure 6.1f
1/100 scale. Allow space for air movement on
Refer to the layout leading to the side with ventilation openings.

the installation position.

Lindburg. indb 13 :‘t

suononusuil Ajquiasse pue uoljejjeisu| a

13

2/16/2007  19:12:07,



L EEEE —p—

suononJisul Aquasse pue uolje|jesu] a

14

Lindburg. indb 14

Connection of power supply and ground connections

(T

A WARNING

Use a power supply equipped with a ground fault interrupter. If the power supply
used does not have a ground-fault interrupter, a fire could result from a ground
fault.

This product comes complete with both UK and European mains leads. Only
operate this product with the mains leads supplied or mains leads of the same
type and rating. Using mains leads other than those supplied or mains leads of a
different rating may result in electric shock, short circuit or a fire hazzard.

Do not leave power cables exposed. Exposed cables could trip people and suffer
damage. Electric shocks or short-circuit accidents could result from damaged
cables. Run cables where they will not impede people's movement, or cover
them.

Always protect any cable that runs across the floor. If the power cable is exposed,
it will be vulnerable to damage and could cause electric shock accidents.

S

)

There is an AC bracket at the back of the machine. It has a Mains Switch (ON/OFF), a protection fuse and an inlet
for connecting power cables.

1 Check that the main switch is switched off.

=

\
0

Main switch off

Figure 6.1g

2/16/2007  19:12:08



L "EEEN —&— (T

Plug the power plug of the power cable securely into the socket, and plug the connector opposite the plug
securely into the inlet of the AC unit.

3 Connect the power cable (and grounding cable). Attach a wiring cover to protect the power and earth cables.

» Wthng Cower

Figure 6.1i

suononusuil A|quiasse pue uoljejjeisu| a

15

Lindburg. indb 15 $ 2/16/2007  19:12:08



L "EEEE —&— (T

6-2 Precautions on using a service outlet

(¢ 0

A\ WARNING

The current capacity of the service outlet on the machine is 5A.

Overheating and ignition could result if devices with combined maximum current in
excess of 5A are connected to the service outlet. That is a very dangerous situation,
which must be avoided.

\ ~

It is not possible to connect one Lindbergh-equipped cabinet to the service outlet of another, as the maximum current
capacity would be exceeded.
Head-to-head connection of one additional cabinet is possible, provided it is not a Lindbergh cabinet.

suononJisul Aquasse pue uolje|jesu] a

= = —]

JL=05 —HENS

° o o 0

© o D o (<) ] o D o [s)

LINDBERG-equipped — = = BT LINDBERG-equipped
=l —frd o
e N = = I
n T T
1] _— 1s. %E’ =
Figure 6.2

16

Lindburg. indb 16 $ 2/16/2007  19:12:09



L "EEEE —&— (T

Precautions when moving the console

(¢ 0

A WARNING

e Unplug the power plug before moving the machine. Moving the machine with the
plug plugged in could damage the power cable and cause fire and electric shock.
Take care not to damage the cable by treading on it or trapping it while moving
the machine.

e Do not push strongly on the top of the cabinet. That could tip the cabinet forward
and cause an accident.

2]0su09 ay} BuiAow usaym suonnesaid H

s
Casters on gro‘lk /

Figure 7a

17

Lindburg. indb 17 $ 2/16/2007 19:12:10‘



L "EEEE —&— (T

E) Internal switches and the coin meter

(¢ 0

A WARNING

e Never touch places other than those specified. Touching other places could
cause electric shock or short circuit accidents.

e Take care not to damage the wiring. Electric shocks or short-circuit accidents
could result from damaged wiring.

[ Adjust the volume to an appropriate level for the surroundings. ]

IMPORTANT

The entry lid opens when the lock on the back is unlocked. When the entry lid is open, the internal switches can be
seen inside.

J9}aW Ul0d 3y} pue Sayd}IMs |eulaju] a

Switch unit

Entry lid

18

Lindburg. indb 18 $ 2/16/2007  19:12:11



L "EEEN —&— (T

Test button Service button Volume VR
0@ -
o — o
° | QRBIBIE « [ | ©
o o

Monitor adjustment board

See chapter 11

Figure 8c
Test button : This puts the game board into test mode.
Service button : This is the service credit button. The coin meter does not count up.

Volume VR : This adjusts speaker volume.

There is a coin meter inside the cash box door.

The game cannot be played if the coin meter circuit is disconnected.

IMPORTANT

J9}JaW U109 3y} pue SaYI}MS [eutaju] a

Coin meter
Counts the number of coins inserted

Figure 8d

19

Lindburg. indb 19 $ 2/16/2007  19:12:13



L "EEEE —&— (T

) For mounting the control panel

(¢ 0

A\ WARNING

e Always turn the power switch off before working on the machine. Electric shocks
or short-circuit accidents could result.

e Take care not to damage the wiring. Electric shocks or short-circuit accidents
could result from damaged wiring.

A WARNING

e Take care to avoid trapping your fingers when opening and closing the control
box upper cover.

e The control box upper cover can close unexpectedly under its own weight,
potentially trapping fingers. Support it securely in place when working with it
open.

|aued |o13u09 ay} Buzunow 104 a
>\
7)

e If you remove the bolts and nuts fastening the control panel in place, it will fall,
causing an accident. Support the control panel securely in place when removing
it.

o )

9-1 Replacing the control panel

1 Use the main switch of the AC unit or the sub-power switch behind the service door to turn the power supply
off.

2 Unlock the lock on the back of the control box, then open the entry lid.

Unlock

OO!DDD!OO —
=

ye
[ o7 |

G

Figure 9.1a

20

Lindburg. indb 20 $ 2/16/2007 19:12:14\‘



L "EEEN —&— (T

3 Press the tabs together and open the control box upper cover.

* The control box upper cover can close unexpectedly under its own weight, potentially trapping fingers.
Secure the control box upper cover in the raised position before proceeding with the operation described
below.

Control box upper cover

Figure 9.1b

[aued |o13u0d ayj Buunow Jo4 E

4 There are nine connectors on the connector panel inside the control box. Disconnect all nine connectors.
In some cases, some of the connectors may already be disconnected, depending on the game used.

5 Remove six pairs of carriage bolts and flange nuts, then remove the control panel. Take care not to damage
the wiring at this stage.

flange nuts x 6
M4

Connector panel

Extract connector

Carriage bolts x 6
M4 x 16

Control panel

Figure 9.1c

21

Lindburg. indb 21 $ 2/16/2007  19:12:18



L "EEEN —&— (T

Switch caps

When converting to a game with fewer control buttons, remove the buttons from the control panel and fit switch
caps into the empty button holes.

Switch caps .
253-5442 \‘ )
o I
; .
3
OO -
= -, S
«Q
ot
> 5
3 S
: W
2 N N
©
Q
2

Figure 9.1d

22

Lindburg. indb 22 $ 2/16/2007  19:12:19



L "EEEE —&— (T

9-2 Replacing the instruction sheet

(¢ 0

A NOTE

Take care not to hit or apply excessive force to glass components. Careless
handling can break glass components, and fragments can cause injury.

N\ )

1 Open the control box upper cover, with reference to steps 1-3 in “9-1”.

Remove the four screws from the back of the control box upper cover, then remove the two brackets, the
instruction cover and the instruction sheet. The instruction sheet can be replaced.

[aued |o13u0d ayj Buunow Jo4 a

INSTRUCTION COVER

DIFFUSER

Figure 9.2a

m4x16 machine screw ';r T_{ﬁ_
'

Instruction plate bracket

Instruction Plate

Figure 9.2b

23

Lindburg. indb 23 $ 2/16/2007 19:12:20‘



L "EEEE —&— (T

10}99]9s U109 E

24

Lindburg. indb 24

) Coin selector

(¢ 0

A\ WARNING

e Always turn the power switch off before working on the machine. Electric shocks
or short-circuit accidents could resulit.

e Take care not to damage the wiring. Electric shocks or short-circuit accidents
could result from damaged wiring.

Removing the coin selector

When the entry lid is open, the coin selector is behind it, on the right side. The selector stopper is behind the selector.
Remove it to tilt the selector and pull it out upwards.

Stopper

Coin selecter

Figure 10a

Repairing coin jams

If pressing the coin return button does not return the coin, open the entry lid and then open the coin selector gate.

Remove any jammed coins, then insert a normal coin and check that the selector works normally.

2/16/2007 19:12:20‘



—&— (T

Cleaning the coin selector

e Moisten a soft cloth with water or diluted neutral cleaner, and wring
it out firmly before using it for cleaning.
IMPORTANT e Never use machine oil etc. on the coin selector.
e After cleaning the coin selector, insert a standard coin under (10|
normal usage conditions and check that the selector works )
normally. g-
n
o
®
Clean the coin selector every three months. Follow the procedure below to clean it. g..
2
1 Turn off the game power supply. Open the entry lid.
2 Remove the coin selector from inside.
3 Open the gate and use a soft brush to brush dirt out.
4 Moisten a soft cloth with water or diluted neutral cleaner, and wring it out firmly before using it for wiping.
5 Remove the cradle.
When removing the retaining ring (E ring), take care not to bend the shaft.
6 Use a soft cloth etc. to wipe dirt off the shaft and bearing.
7 After wiping, blow air onto the coin selector to dry it completely.
//7’J]
I S®:
% o
I
€ M
Figure 10b Figure 10b
25

Lindburg. indb 25 $ 2/16/2007  19:12:21



L "EEEN —&— (T

Coin insertion test

Perform the check below once a month, at the same time as the coin switch test.

[] Did the coin meter count the coin normally?
[ Did the coin fall into the cash box normally?
[ If the coin was inserted with the return button pressed, did it drop out of the coin return slot?

()
S,
S
7
o
)
0
—r
o]
=
Coins inserted here
Coins rejected here
Coins counted here
Figure 10d
26

06_10_6942_E. indd 26 $ 2/16/2007  19:33:21



L EEEE —p—

EE) The monitor (LCD display)

11-1 Safety precautions for handling the monitor

A WARNING

Handling malfunctions and breakdowns

If the machine gives off smoke or an unusual odor, unplug it from the
socket immediately.

Continued use with a damaged power cable could cause fire or electric
shock. Check that no further smoke is given off, then contact the
vendor.

If nothing appears on the screen, unplug the machine from the socket
immediately.

Continued use could cause fire or electric shock.

Contact your vendor to arrange an inspection.

If any liquid or foreign body falls into the interior, unplug the machine
from the socket immediately.

Continued use could cause fire or electric shock.

Contact your vendor to arrange an inspection.

If the machine machine has fallen, or the cabinet has broken, unplug it
from the socket immediately.

Continued use could cause fire or electric shock.

Contact your vendor to arrange an inspection.

When using the machine

Do not attempt to repair, modify or disassembile it.

There are high-voltage components inside which could cause electric
shock or fire.

Contact the vendor to arrange internal inspection, adjustment and
repair.

Foreign objects must not enter the machine.
If metal objects, or flammable materials such as paper, drop into the
interior through the ventilation holes, they could cause electric shocks.

Do not touch the body of the machine or its power cable during an
electrical storm.
Electric shock accidents could resulit.

o

Extract plug

o

Extract plug

o

Extract plug

o

Extract plug

@

Disassembly
prohibited

%,

Insertion of foreign
objects prohibited

2,

Contact
prohibited

Be sure to adjust the monitor correctly. Do not operate the monitor with noise
or distortion in the image. An incorrectly adjusted screen image can cause

dizziness, headache or other symptoms in players or other customers.

Lindburg. indb 27

o

(Keidsip @97) sopuow ayy [

27

2/16/2007  19:12:23



L "EEEE —&— (T

11-2 Cleaning the screen surface

(¢ 2

A NOTE

e Use a dry, soft cloth to wipe dirt off. Do not use coarse gauze or similar materials.

e Alcohol (ethanol) is suitable as a solvent for wiping. Observe the following
restrictions strictly when using detergents.

* Dilute domestic neutral detergent with water, soak it into a soft cloth, and
wring the cloth before using it for wiping.

Do not use detergents or powders which contain abrasive particles, detergents
containing bleaching agents, or similar cleaners.

* Never use glass cleaners or other alkaline detergents, or solvents such as
thinner.

e Never scrub or scrape the surface with a hard brush or other hard implement.

(Reidsip @9) Jopuow ayy E

o "

Clean the screen surface about once a month.

28

Lindburg. indb 28 $ 2/16/2007  19:12:23



11-3 Monitor adjustment method

The various adjustment values are adjusted accurately in the factory
before shipping, so do not change them needlessly, or adjust them

IMPORTANT | other than as specified in this manual. The machine might stop

displaying properly.

Operation and adjustment

The basic operation method for using the key switches to make adjustments is explained below.
The monitor adjustment board is visible when the entry lid is open. (See Chapter 8)

Names of parts
monitor adjustment board

—
o BREEEILE

$101 $102 §103 S104 S

AUTO : Auto setup (automatic adjustment)

MENU : Turn on the Menu display and switch between pages.

+ : Shift the selected menu display/ increase adjustment
values or setting values.

- : Shift the selected menu display/ decrease adjustment
values or setting values.

ENTER: Set the selected menu display/ save adjustment values or
setting values.

EXIT : Close the menu/ cancel adjustment values or setting values.

To make adjustmentssettings, first press “MENU” to display the MENU.

Next, use the [+] [—] keys to move to the item to adjust/set, then press “ENTER”.

Once the item to adjust/set is displayed at the bottom of the screen, use the [+] [—] keys to adjust/set it.

A W NN

Lindburg. indb 29

Once adjustment/setting is complete, press [ENTER] to store the adjustment/setting values and close.

*To revert to the original values without storing the adjusted/set data, do not press the [ENTER] key, but
press the [EXIT] key to return to the MENU screen.

(Keidsip @97) sopuow ayy [

29

2/16/2007 19:12:24\‘



!

—&— (T

O 1 Press the [MENU] key.
o P1 The MENU is displayed.
;g BRIGHT _  POSI
*—s CONTRAST  CLOCK
° ‘. SHARPNESS PHASE
.o W/B
m  HOpz|+—1
ok, ,
3 £ (o) T P
g 2 Use the + and - keys to move to each of adjustment
5 g[Ohe and setting items.
5 :[Okz|«— 3,5 ing |
= gg 3 Use the ENTER key to display each of adjustment
8 ] and setting items.
o 4 Use the + and - keys to change each of adjustment
L and setting items.
g O 5 Use the ENTER key to store each of adjustment and
setting items.
The menu
Care is required, because incorrect operation can change the setup state and prevent correct display.
MENU screen
P1 P2 P2
BRIGHT POSI MODE osD RESET
CONTRAST  CLOCK 0osD RESET
SHARPNESS PHASE
W/B
TIMING GAME TIMING GAME
When input (640x400) (1360x768)
*Pressing the MENU key changes the page.
30

Lindburg. indb 30 $ 2/16/2007 19:12:2A‘



L "EEEN —&— (T

List of setting items

Adjustment / setting

value value
MENU—TBRIGHT + « =+ o oo oo —10~ +10
- CONTRAST + = v v oo v o —10~ +10
L SHARPNESS: =+ v o v v oo —10~ 410 @
W,/ B (A/B)
“— R-DRIVE-- - - - — 50~ +50 -
_ G—DRIVE+ =+« + - —50~ 450 a
 B—DRIVE+ -« —50~ +50 3
(P1) - R—CUTOFF+-++ =50~ +50 S
G—-CUTOFF-:+++ =50~ +50 g
LB—CUTOFF+-+++ —50~ +50 =
-POS | 6
L H.POS [+« — 64~ +64 =)
LV.POS I+« —32~ +32 =
_CLOCK ............. _32,\, +32 'g
E PHASE  « + ¢ o o o o o o o o —32~ 432 g
—MODE® + = ¢+ o o o o o oo WIDE/NORMAL
_OSD ............... ON/OFF
(P2) —WIDE /MAGC:+ + + + =« o+« ON/OFF
_RESET ............. —

31

Lindburg. indb 31 $ 2/16/2007 19:12:2A‘



L "EEEN —&— (T

Black level adjustment (BRIGHT)

Black level adjustment (BRIGHT) is performed in the factory to a standard condition, but it can be adjusted for
preference. Changing the brightness of the screen changes the prominence of black areas of the screen.

However, incorrect adjustment of the black level dramatically reduces screen image quality, so the user is advised to
keep the standard settings.

1 Press the [MENU] key.

P1
BRIGHT POSI The MENU screen is displayed.

CONTRAST  CLOCK
SHARPNESS PHASE
W/B

O

AUTO
.
$106

(Reidsip @9) Jopuow ayy E

o o
°
e o
=~ I The cursor is at the [BRIGHT] position, so press the [ENTER] key
= #,, 1 2 to display the adjustment and setting item menu.
B,
= ‘g | The adjustment and setting item
. menu is displayed.
Obz|le—2,4
O
BRIGHT 0

O

3 Use the [+] and [-] keys to adjust.

Adjusted data values change.
Adjust the screen contrast
(CONTRAST) to the desired state.

BRIGHT +1

4 Press the [ENTER] key. (Store and close)

P1
Eglﬁ'rRTAST EE)SICK The adjusted data is stored and the
SHARPNESS PHASE display returns to the Menu screen.
W/B

*If there is no need to store,
press the [EXIT] key to return to
the Menu screen without storing.

32

Lindburg. indb 32 $ 2/16/2007  19:12:25



L "EEEN —&— (T

Contrast adjustment (CONTRAST)

Screen contrast (CONTRAST) is performed in the factory to a standard condition, but it can be adjusted for
preference. Changing contrast alters the level of shading (contrast) in the screen image.

1 Press the [MENU] key, then use the [-] key to move the cursor. q'l
>
P1 ®
BRIGHT POSI The MENU screen is dlsplayed g
CONTRAST  CLOCK 3,
SHARPNESS PHASE o
O W/B °
=
(@)
O
g
g g (]
. 1 Move to the CONTRAST position and press the [ENTER] key. =
= gg ' The adjustment and setting items are displayed.
ok
- ‘g 1,3 The adjustment and setting item
e menu is displayed.
:[Okz|«—2,4
O |+—a
COTNRAST 0
O 3 Use the [+] and [-] keys to adjust.
Adjusted data values change.
Adjust the screen contrast
(CONTRAST) to the desired state.
BRIGHT +1
4 Press the [ENTER] key. (Store and close)
P1
EgII\?PFIAST E(L)3ICK The adjusted data is stored and
SHARPNESS PHASE the display returns to the Menu
W/B screen.
*If there is no need to store,
press the [EXIT] key to return to
the Menu screen without storing.
33

Lindburg. indb 33 $ 2/16/2007  19:12:25



L "EEEN —&— (T

Sharpness adjustment (SHARPNESS)

Screen contrast (CONTRAST) is performed in the factory to a standard condition, but it can be adjusted for
preference. Adjusting sharpness alters the level of emphasis on boundaries in the image.

EP 1 Press the [MENU] key, then use the [-] key to move the cursor.
>
3 P1
e} BRIGHT POSI The MENU screen is dlsplayed
= CONTRAST  CLOCK
o SHARPNESS PHASE
= W/B
T O
(@)
O
=7 .
.‘é §§
Q [ N
< °
e o ayn
i Eje; 1 2 Move to the SHARPNESS position and press the [ENTER] key.
[k
= : -1, 3 The adjustment and setting items
‘§ -« are displayed.
:[Okz|«—2,4
:(Okz|«—*4
SHARPNESS 0
@) 3 Use the [+] and [-] keys to adjust.
Adjusted data values change.
Adjust the screen SHARPNESS
to the desired state.
SHARPNESS 1
4 Press the [ENTER] key. (Store and close)
P1
BRIGHT POSI The adjusted data is stored and
CONTRAST  CLOCK the display returns to the Menu
SHARPNESS  PHASE screen
W/B ’
*If there is no need to store,
press the [EXIT] key to return to
the Menu screen without storing.
34

Lindburg. indb 34 $ 2/16/2007  19:12:25



L "EEEN —&— (T

White balance adjustment (W/B)

Screen white balance (W/B) is performed in the factory to a standard condition, but it can be adjusted for preference.
However, incorrect adjustment of the white balance dramatically reduces screen image quality, so the user is advised
to keep the standard settings.

-
1 Press the [MENU] key, then use the [-] key to move the cursor. ?D'
3
Pl The MENU is displayed g
BRIGHT POSI e screen is displayed. 2.
CONTRAST  CLOCK )
SHARPNESS PHASE =
O W/B o
O
e
]
s =1
22 Sm,
o o
°
e Move to the W/B position and press the [ENTER] key.
- Ef%’ «— 1 The adjustment and setting items are displayed.
' w/B
= : -1, 3 The adjustment and setting item
‘é <« R-DRIVE 0 menu is displayed.
o - Soe
opr 254 e
éé —— B-CUTOFF 0
O Select the item to adjust and press the [ENTER] key,
then adjust with the [+] and [-] keys.
Adjusted data values change.
Adjust the screen white balance
(W/B) to the desired state.
R-DRIVE +1
4 Press the [ENTER] key. (Store and close)
wiB The adjusted data is stored and
R-DRIVE 0 the display returns to the Menu
G-DRIVE 0 screen
B-DRIVE 0 :
G CUTOFF 0
- *If there is no need to store,
B-CUTOFF 0 press the [EXIT] key to return to
the Menu screen without storing.
35

Lindburg. indb 35 $ 2/16/2007  19:12:25



L "EEEN —&— (T

Adjustment of screen display image (POSI)

Screen display position (POSI) is adjusted in the factory to a standard condition, but it can be adjusted

for preference. In some cases, it may be necessary to make adjustments after changing game software.

1 Press the [MENU] key, then use the [+] key to move the cursor.

P1

BRIGHT POSI The MENU screen is displayed.

CONTRAST  CLOCK
SHARPNESS PHASE
W/B

O

AUTO
.
$106

(Reidsip @9) Jopuow ayy E
[
[ ]

Move to the POSI position and press the [ENTER] key.

- £ b 1 The adjustment and setting items are displayed.
’ 1.3 POSI The adjustment and setting item
’ H.POSI 0 menu is displayed.
V.POSI 0

ENTER

s102
N
N

=N

EXIT

ololelole:

s101
*
'

Select the item to adjust and press the [ENTER] key,
then adjust with the [+] and [-] keys.

O

Adjusted data values change.
Adjust the screen position (POSI)
to the desired state.

H.POSI +1

4 Press the [ENTER] key. (Store and close)

POS| The adjusted data is stored and

H.POSI 0 the display returns to the Menu
V.POSI 0 screen.

*If there is no need to store,
press the [EXIT] key to return to
the Menu screen without storing.

36

Lindburg. indb 36 $ 2/16/2007  19:12:26



L "EEEN —&— (T

Clock adjustment (CLOCK)

The screen sampling clock (CLOCK) is adjusted in the factory to a standard condition, but it can be adjusted for
preference. In some cases, it may be necessary to make adjustments after changing game software.

However, incorrect clock adjustment dramatically reduces screen image quality, causing jittering and moire patterns,
so the user is advised to keep the standard settings.

1 Press the [MENU] key, then use the [-] key to move the cursor.

P1
BRIGHT POSI The MENU screen is displayed.

CONTRAST = CLOCK
SHARPNESS PHASE
W/B

O

(Kejdsip @97) sopuow ayy [

AUTO
.
$106

Move to the CLOCK position and press the [ENTER] key.
The adjustment and setting items are displayed.

MENU

$105
-—

$104

1,3 The adjustment and setting item
menu is displayed.

ENTER

olelololo
L1
E=N

EXIT

$101
*
=N

CLOCK 0

O

3 Use the [+] and [-] keys to adjust.

Adjusted data values change.
Adjust so that the sampling clock
is in the optimum state. (so that
jitter and moire effects disappear)

CLOCK +1

4 Press the [ENTER] key. (Store and close)

P1 . .
BRIGHT PO The a_ldjusted data is stored and
CONTRAST = CLOCK the display returns to the Menu
SHARPNESS PHASE screen.

W/B

*If there is no need to store,
press the [EXIT] key to return to
the Menu screen without storing.

37

Lindburg. indb 37 $ 2/16/2007  19:12:26



L "EEEN —&— (T

Phase adjustment (PHASE)

The screen sampling phase (PHASE) is adjusted in the factory to a standard condition, but it can be adjusted for
preference. In some cases, it may be necessary to make adjustments after changing game software.

However, incorrect phase adjustment dramatically reduces screen image quality, causing jittering, so the user is
advised to keep the standard settings.

1 Press the [MENU] key, then use the [-] key to move the cursor.

P1

BRIGHT POSI The MENU screen is displayed.

CONTRAST  CLOCK
SHARPNESS = PHASE
W/B

O

AUTO
.
$106

(Reidsip @9) Jopuow ayy E

Move to the PHASE position and press the [ENTER] key.
The adjustment and setting items are displayed.

$105
=

MENU

$104

1,3 The adjustment and setting item
menu is displayed.

ENTER

$102
N
'

EXIT

oolelolo

S101
*
5

PHASE 0

O

3 Use the [+] and [-] keys to adjust.

Adjusted data values change.
Adjust so that the sampling phase
is in the optimum state.

(Jitter disappears)

PHASE +1

4 Press the [ENTER] key. (Store and close)

P1
BRIGHT POSI The a_djusted data is stored and
CONTRAST  CLOCK the display returns to the Menu
SHARPNESS = PHASE screen.

W/B

*If there is no need to store,
press the [EXIT] key to return to
the Menu screen without storing.

38

Lindburg. indb 38 $ 2/16/2007  19:12:26



L "EEEN —&—

Aspect ratio switching (MODE)

The aspect ratio of the screen can be switched. When WIDE is used, the display fills the entire screen, but when

(T

NORMAL is used, the screen display is the maximum size possible at the aspect ratio of the input signal.
However, this is not the case when input at 640 x 400, 1,360 x 768 or 1,280 x 720 is used.

Lindburg. indb 39

1 Press the [MENU] key twice, then
MODE position.

press the [ENTER] key at the

P2
MODE The MENU P2 screen is
0sD RESET displayed.
[ ]
L N ) . )
) ii 1 2 MODE MENU is displayed.
folLsz < MODE . L
” 3 The adjustment and setting item
= ‘g i \’(chl)%llfwAL menu is displayed.
:[Okz|l«—1,4
O s
O 3 Use the [+] and [-] keys to adjust.
MODE
The display screen changes
WIDE when the setting value chan
NORMAL g ges.

4 Press the [ENTER] key. (Store and close)

P2

MODE
0osD RESET

The adjusted data is stored and
the display returns to the Menu
screen.

*If there is no need to store,
press the [EXIT] key to return to

the Menu screen without storing.

(Kejdsip @97) sopuow ayy [

39

2/16/2007  19:12:27



L "EEEN —&— (T

On-screen display (OSD)

ON: Always display the OSD corresponding to (ANALOG/DIGITAL).
OFF: Only display when the above input is changed.
Notes: In case of No Input Signal or Out of Range, the OSD is displayed continuously while the condition
persists, regardless of whether the setting is on or off.

-
=3
)
3
o
3.
S : TP
= Input signal identification (WIDE/MAC)
F
(@)
g PCinput.
o ON: Only enabled with input is VGA-TEXT (720x400)/MAC13/MAC16/MAC19/MAC21/WVGA/WSVGA/
':’T WXGA/720p.
< OFF: Identification of WID/MAC-type signals is OFF
Reset (RESET)
Adjust setting values for BRIGHT, CONTRAST, W/B, SHARPNESS, POSI, CLOCK, PHASE, MODE, OSD and
WIDE/MAC/to the factory defaults.
40

Lindburg. indb 40 $ 2/16/2007  19:12:27



L "EEEN —&— (T

Auto setup

When auto setup is performed, signal timing is identified automatically, and the items below are automatically
adjusted to their optimum values/stored.

» Sampling frequency/phase  * Horizontal/vertical display position

Memory can hold up to 136 settings in the user area, so once the number of settings exceeds 136, they will be
overwritten sequentially.

1 Press the [AUTO] key.

The setting screen is displayed.

STRAT:ENTER KEY
QUIT:EXIT KEY

O

(Keidsip @97) sonuow ayy [

AUTO
$106
—

MENU

ololelofo

$105

2 Press the [ENTER] key.

$104

Auto setup is performed.

«—2 AUTO IN PROGRESS *Press the [EXIT] key to avoid
executing.

ENTER
$102

EXIT
s101

<« *2

O

41

Lindburg. indb 41 $ 2/16/2007  19:12:27



L "EEEN

(Reidsip @9) Jopuow ayy E

42

Lindburg. indb 42

Input signal

——

(T

Horizontal frequency

Vertical frequency

No. Input signal name
[kHZ] [Hz]
1 (640x400) 31.46 70.07
2 (640x480):VESA 31.38 59.77
3 (640x480):NAOMI 31.69 59.79
4 (640x480): TRIFORCE 31.47 59.94
5 (640x480):CHIHIRO 31.47 59.94
6 (800x480) 29.77 59.54
7 (800x600) 37.95 60.43
8 (1024x600) 37.51 60.12
9 (1024x768) 48.34 59.97
10 (1280x768) 47.92 60.05
11 (1280x1024) 63.98 60.02
12 (1360x768) 47.51 59.53

2/16/2007  19:12:27



L "EEEE —&— (T

tF) Replacing the fluorescent lamp

(¢ 2

A\ WARNING

e Always turn the power off before working on the machine. Working with the
power switched on could lead to electric shocks or short-circuit accidents.

e Touching a hot fluorescent tube could cause a burn. Take care when replacing
the tube.

o )

1 Use the main switch of the AC unit or the sub-power switch behind the service door to turn the power supply
off.

2 Remove the two truss screws and lift the billboard assembly up to remove it.

dwe| Juaasaiony} ay} buioe|day B

Billboard assembly

M4 x 8

Figure 12a

43

Lindburg. indb 43 $ 2/16/2007  19:12:28



L "EEEN —&— (T

3 Remove the 6screws and the light box lid assembly to replace the fluorescent lamp.

Screw (black) x 4
/M3 x 12, with flat and spring washer

S-tight screw x 2 / Y\ S
|

M3 x 16, with flat washer N W

Light box lid assembly /

FL TUBE > \ ii

18W T8 600MM (390-0100-18DUK)

ASSY FL TRAY f
LCB 100V 18W (390-0100-18XUK) |

dwe| Juassaionyj ay} buioejday B

Figure 12b

44

Lindburg. indb 44 $ 2/16/2007  19:12:28



L "EEEE —&— (T

(E) Replacing the game board

(¢ 2

A WARNING

e Be sure to turn the power off before touching the inside of the machine, to
prevent electric shock accidents.

e Take care not to damage the wiring. Electric shocks or short-circuit accidents
could result from damaged wiring.

e The current capacities for game boards in this product are 3.3V 12A, 5.0V 10A,
12V 2A. Never use game boards which require capacity above these values. Use
of such boards would cause overheating and ignition.

e When changing to a game board that does not follow the JAMMA standard, be
sure to use the dedicated harness specified by the game board manufacturer.
Use of anything other than the specific dedicated wiring risks causing
overheating and fire.

pJeoq aweb ay) Buioejdoy B

o "

This manual explains how to remove the Lindbergh. Before starting work to change to a different game board,
contact the game board vendor and check it thoroughly.

13-1 How to remove the game board

To remove the game board (Lindbergh), take the entire base (wooden board), on which the game board is mounted,
out of the cabinet.

1 Use the main switch of the AC unit or the sub-power switch behind the service door to turn the power supply
off. Loosen the anti-unlocking screw to unlock the service door.

2 Remove all the connectors which are connected to the game board. Also remove all other connectors on the
base that connect to anything other than the game board. The number of connectors varies between games.

Extract connector

Figure 13.1a

45

Lindburg. indb 45 $ 2/16/2007 19:12:30‘



L "EEEN —&— (T

Remove the one thumb screw that fastens the base, then remove it from the cabinet, with the game board still
attached.

Thumb screw x 1

paeoq aweb ayj buioejday E

M4 x 25, using flat and spring washer

Figure 13.1b

4 Remove the four screws and take the game board off.

Screw x 4
/M4 x 16, with flat and spring washer

Figure 13.1c

46

Lindburg. indb 46 $ 2/16/2007  19:12:32



L "EEEE —&— (T

13-2 Replacing the design components

Replacement may be required for some game titles.
Basically, replace the billboard sheet, the instruction sheet and the sub-instruction sheet.
Refer to “9-2” for replacement of the instruction sheet.

Replacing the billboard sheet

1 Remove the two truss screws and lift the billboard assembly up to remove it.

Billboard assembly

pJeoq aweb ay) Buioejdoy ﬂ

3
Truss screw (black) x 2 /
M4 x 8

Figure 13.2a

2 Remove the six Allen screws and the billboard front plate to replace the billboard sheet.

Allen screw x 6
M4 x 6, using special dished washer\

Billboard front plate

/
|
'/ sitbonrs she

Figure 13.2b

47

Lindburg. indb 47 $ 2/16/2007  19:12:33



L "EEEN

paeoq aweb ayj buioejday E

48

Lindburg. indb 48

Sub-instruction sheet

Affix the sub-instruction sheet to the entry lid.

Figure 13.2c

2/16/2007 19:12:34\‘



L "EEEE —&— (T

13-3 The game board power supply voltage adjustment knob

V.ADJ has already been set at the factory. Use it with the factory default
setting. Needless alteration of the setting can damage the IC board and

IMPORTANT | ¢ause malfunctions.

The power supply unit inside the cabinet has a VR for adjusting game board DC power supply voltage.

pJeoq aweb ay) Buioejdoy ﬂ

2

L

O
Volume for +5V ~——— Q
Volume for +3.3V. — @ O

Figure 13.3 Power supply unit

49

Lindburg. indb 49 $ 2/16/2007  19:12:37



L "EEEE —&— (T

(& Regular inspection list

Perform regular inspection and maintenance of the items below, to maintain the performance of the machine and
ensure the safety of its operation.

The control panel is touched directly by the player’s hands. Clean it as often as necessary, and provide hand wipes
etc. so players can play without worrying about cleanliness.

m )
» A WARNING
«Q
% e Once a year, check that the power cable is undamaged, that the plug is securely
- inserted into the socket, and that there is no buildup of dust between the socket
_§ and the plug. Use with a buildup of dust could cause accidents or damage.
® . . .
Q e Once a year, contact the vendor or the service contact named in this manual to
g' order cleaning of the interior of the machine. Leaving dust to accumulate inside
= the machine without cleaning can cause fire or other accidents. A fee will be
- changed for interior cleaning.
o "
Table 14 Regular inspection list
Task Interval Reference item
Cabinet Check that all adjusters touch the ground Daily Ch.3
Monitor Clean the screen surface Weekly 11-2
(LCD display) Check adjustment Monthly
Game board Check settings Monthly See the game board
Control panel Input test Monthly servicing manual
Speakers and sound Sound test, volume adjustment check Monthly
The coin selector Coin insertion test Monthly Ch. 10
Cleaning Every 3 months
Power plug Inspection, cleaning Yearly As above
Internal Cleaning
Cabinet surfaces Cleaning As required As below
Cleaning cabinet surfaces
If the cabinet is very dirty, wet a soft cloth with water, or with diluted neutral detergent, wring it out and use it to
wipe the cabinet. Do not use solvents such as alcohol, thinner or benzene, or abrasives, bleaches or chemical cloths,
because they may damage the surface finish. Some general home, kitchen or furniture detergents are strong enough
to penetrate plastic components, paints and printing. Before using any detergent, read the precautions carefully, and
test its effects first on an inconspicuous area.
50

Lindburg. indb 50 $ 2/16/2007  19:12:41



L "EEEE

EB Parts list

(1)LCB-00001UK
TOP ASSY LCB UR (VT3)

(3)LCB-1100UK

(2)LCcB-1000UK
ASSY CABINET UR

(23)LCB-2500UK
ASSY CONTROL PANEL 2L6B

Lindburg. indb 51

ASSY BASE CABINET

L (5)LCB-1270UK
ASSY SERVICE DOOR

— (6)LCB-1300UK
AC UNIT

— (7)LCB-1500UK
ASSY REAR FRAME

— (8)LCB-1600UK
ASSY MONITOR 32

— (1) LCA-1700UK
ASSY BILLBOARD W/O DESIGN

— (12) LCB-2000UK
ASSY CONTROL BOX

— (15)LCB-2100UK
ASSY ENTRY BOX

— (16)LCB-2150UK
ASSY ENTRY LID

— (A7)LCB-2170UK
ASSY COIN SELECTOR

— (18)LCA-2180UK
SW UNIT

— (19)LCA-2190UK
/0 UNIT

— (20)LCA-4000UK
ASSY PWR SPLY

L 1) LCA-4050UK
ASSY SUB ELEC

(4)LCB-1150UK
ASSY BASE BOX

(9)LCA-1650UK

ASSY SPEAKER L

LCA-1660UK

ASSY SPEAKER R

(13)LCcA-2030UK

ASSY CONTROL BOX UPPER

LCA-2060UK

ASSY CONTROL BOX LOWER

81l sped [

51

2/16/2007  19:12:42



L "EEEN —&— (T

@ TOP ASSY LCB UR (VT3) (LCB-00001UK) (D-1/2)
15]
N
3 5
E
((27\/207Y20)
NPT\
(4
A
(2022033
LAIAL
52

Lindburg. indb 52 $ 2/16/2007  19:12:42



L "EEEE

——

(1) TOP ASSY LCB UR (VT3) (LCB-00001UK)

ITEM NO.

O WN -~

201
202
203
204
205

401
402
403
404

Lindburg. indb 53

PART NO.

LCA-1000UK
LCA-2500UK
LCB-0101UK
429-0777-01UK
422-0946U
LCA-0004

031-0S0416
050-F00400
032-000425
068-441616
060-S00400

253-5442
LCA-60027
LCA-60028
000-P00416-W

DESCRIPTION

ASSY CABINET UR

ASSY CONTROL PANEL 2L6B
WOODEN BASE MAIN
BILLBOARD SHEET VT3
SHEET INSTR VT3

STICKER SUBINSTR LCA

CRG BLT STN M4x16
FLG NUT M4

WING BLT M4x25
FLT WSHR 4.4-16x1.6
SPR WSHR M4

ANTI BACTERIAL CAP SW

WH DC PWR SPLY FOR JVS BD
WH DC PWR SPLY FOR ATX BD

M SCR PH W/FS M4x16

(T

(D-2/2)

NOTE

81l sped [

53

2/16/2007  19:12:42



L "EEEE —&— (T

(2) ASSY CABINET UR (LCB-1000UK) (D-1/3)

181l sped [

54

Lindburg. indb 54 $ 2/16/2007  19:12:43



L "EEEE —&— (T

(2) ASSY CABINET UR (LCB-1000UK) (D-2/3)
= 15]
% 5
2 =
& d
0 g

—&—
@
I
.L
=
&

31

I}

=N

i

99

Lindburg. indb 55 $ 2/16/2007  19:12:43



L "EEEE

181l sped [

56

Lindburg. indb 56

——

(2) ASSY CABINET UR (LCB-1000UK)

ITEM NO.

OCONOOUORWN -

PART NO.

LCB-1100UK
LCB-1270UK
LCB-1300UK
LCB-1500UK
LCA-1600UK
LCA-1700UK
LCB-2000UK
LCB-2100UK
LCB-2150UK
LCB-2170UK
LCA-2180UK
LCA-2190UK
LCA-4000UK
LCA-4050UK

421-7988-91UK

LB1046
LB1130
421-7020UK
421-9168-01
280-5113
280-5114
253-5569
253-5570
123-5123
LCB-1050UK
LB1102
LB1104
220-5643UK

DESCRIPTION

ASSY BASE CABINET

ASSY SERVICE DOOR

ASSY AC UNIT

ASSY REAR FREAME

ASSY MONITOR 32"

ASSY BILLBOARD W/O DESIGN
ASSY CONTROL BOX

ASSY ENTRY BOX

ASSY ENTRY LID

ASSY COIN SELECTOR

ASSY SWITCH UNIT

ASSY 1/0 UNIT

ASSY PWR SUPPLY

ASSY SUB ELEC

STICKER SERIAL NUMBER
LABEL TESTED FOR ELEC. SAFETY
LABEL WEEE WHEELIE BIN
STICKER CAUTION FORK
STICKER COIN METER
COLLAR FOR NANAO MONITOR
SPACER 6.4-25X2

BUSH FOR LCD

CAP FOR LCD

STUD BOLT M6 FOR LCD

ASSY MID BOX

STICKER DANGEROUS VOLTAGE
STICKER CAUTION FORK

COIN METER SMALL

(T

NOTE

(D-3/3)

2/16/2007  19:12:43



L "EEEN —&— (T

(3) ASSY BASE CABINET (LCA-1100UK) (D-1/2)

s1l sped [

o7

Lindburg. indb 57 $ 2/16/2007 19:12:4A‘



L "EEEN —&— (T

(3) ASSY BASE CABINET (LCA-1100UK) (D-2/2)

m ITEM NO. PART NO. DESCRIPTION NOTE
v 1 LCB-1150UK ASSY BASE BOX
% 4 LCB-1101UK REJECT DUCT
” 5 LCB-1102UK COM BRKT
= 6 LCA-1103UK FLOORLID
a 8 PP1087 BAX CASH FOR MINI DOOR

9 LCB-1152UK STICKER BASE UNIT L

10 LCB-1153UK STICKER BASE UNITR

1" LCB-1109UK PLATE COM BRKT COVER
58

Lindburg. indb 58 $ 2/16/2007 19:12:44\‘



L "EEEN —&— (T

(4) ASSY BASE BOX (LCA-1150UK)

o
Q
=1
(/2]
7
®__. l
e =]
202104 ) ' )
-
ITEMNO.  PART NO. DESCRIPTION
1 LCB-1151UK BASE BOX LBG
102 601-5699X LEG ADJUSTER BOLT M16X75 SEGA
103 601-11635X-SUK  CASTOR 50 SWIVEL (BLACK)
104 601-11635X-FUK  CASTOR 50 FIXED (BLACK)
105 FN102 FAN GUARD
106 260-0011-02 AC FAN 100V
201 050-H01600 M16 NUT PAS
301 LGJ-60036UK WH BILLBOARD FAN AC
59

Lindburg. indb 59 $ 2/16/2007 19:12:4A‘



SN o ot
15) — — —
| . i L ;
. S N\ D
- - :Ll ™
@
'\_\\
\‘-\.
[ ]
. A
| I L T
ITEM NO. PART NO. DESCRIPTION
1 LCB-1271UK SERVICE DOOR
2 DP-1167UK TNG LKG
101 220-5575UK LOCK (J9117) W/KEY

60

Lindburg. indb 60

2/16/2007  19:12:45



L "EEEE

—&— (T

(6) ASSY AC UNIT (LCB-1300UK)

ITEM NO.

301
302

Lindburg. indb 61

n)
Q
o 7y
] l o h =
a
101 5 S o
(4)
o
e =
PART NO. DESCRIPTION
LCB-1301UK AC BRKT
LB1096 STKR PROTECT EARTH (NOT SHOWN)
EP1381 FILTER IEC & SW 6A ROXBURGH
LCA-60001UK WH AC BKT (NOT SHOWN)
600-9010-44K WH EARTH 100MM M4/M4 (NOT SHOWN)
61

ES 2/16/2007  19:12:45



L "EEEE

(7) ASSY REAR FRAME (LCB-1500UK)

v
)
=X
(73
z
ITEM NO.
1
2
3
4
101
301
302
303
304
62

Lindburg. indb 62

o]

PART NO.

LCB-1501UK
LCB-1502UK
105-5549UK

LCB-1511UK

400-5461-01

LCA-60017UK
600-9010-44K
600-9025-44K
600-9090-44K

DESCRIPTION

REAR FRAME

MONITOR SUPPORT LID
SW REG BRKT LCA

[

BRKT MONITOR SUPPORT

SW REG FOR LCD 32TYPE

WH LCD POWER 24V

WH EARTH 100MM M4/M4
WH EARTH 250MM M4/M4
WH EARTH 900MM M4/M4

o]

| o

2/16/2007  19:12:45



L "EEEE —&— (T

(8) ASSY MONITOR 32" (LCA-1600UK) (D-1/2)

s1l sped [

63

Lindburg. indb 63 $ 2/16/2007  19:12:48



L "EEEE

sil sped [

64

Lindburg. indb 64

——

(8) ASSY MONITOR 32" (LCA-1600UK)

ITEM NO.

OCONOOAWN -

101
102
103

201
202
203
204
205
206
207

301

PART NO.

LCA-1650UK
LCA-1660UK
LCA-1602UK
LCA-1603UK
LCA-1604UK
LCA-1605UK
140-5090
140-5091
140-5092
LCA-1601UK
LCA-1606XUK
LCA-1607XUK
LCA-1608X
LCA-1609UK
LCA-1610XUK
LCA-1611UK
LCA-1612UK
423-0355

200-6046
390-0100-18XUK
390-0100-18DUK

000-P00412-WB
000-T00408-0C
000-P00312-WB
010-P00316-F
012-P00308-0B
050-F00300
000-P00306-W

LCA-60013UK

DESCRIPTION

ASSY SPEAKER L

ASSY SPEAKER R

LCD SIDE FRAME LCX L
LCD SIDE FRAME LCX R
LIGHT BOX BRKT

AL HOLD BRKT

END CAP L

END CAP R

HORIZONTAL FRAME 32V
LIGHT BOX

LID LIGHT BOX

FRONT LIGHT PLATE
DISPLAY PLATE LCX
WINDOW PLATE BLBD FRONT LIGHT
SPEAKER BRKT LCX A
SPEAKER BRKT LCX B
WINDOW PLATE BRKT
EMBLEM SEGA

ASSY LCD DSPL 32TYPE K
ASSY FL TRAY LCB 100V 18W
FL TUBE 18W T8 600MM

M SCR PH W/FS BLK M4x12
M SCR TH CRM M4x8

M SCR PH W/FS BLK M3x12
S-TITE SCR PH W/F M3x16
TAP SCR #2 PH BLK 3x8
FLG NUT M3

M SCR PH W/FS M3x6

WH SP MONITOR

(T

(D-2/2)

2/16/2007  19:12:48



L EEEE —p—

(9) ASSY SPEAKER L (LCA-1560UK)

P 1

\-\.

1 .

ITEM NO.

1
2

101

201
202

Lindburg. indb 65

PART NO.

140-5089
LCA-1651YUK

130-5260

000-P00305
012-P00406

DESCRIPTION

SPEAKER COVER FOR 130-5260
SPEAKER HOOK L

SPKR BOX 60HM 15/40W W/SHLD

M SCR PH M3x5
TAP SCR #2 PH 4%6

181l sped [

65

2/16/2007  19:12:49



L "EEEE

(10)ASSY SPEAKER R (LCA-1660UK)

181l sped [

66

Lindburg. indb 66

202

A

ITEM NO.

1
2

101

201
202

PART NO.

140-5089
LCA-1661YUK

130-5260

000-P00305
012-P00406

DESCRIPTION

SPEAKER COVER FOR 130-5260
SPEAKER HOOK R

SPKR BOX 60HM 15/40W W/SHLD

M SCR PH M3x5
TAP SCR #2 PH 4x6

2/16/2007  19:12:49



L "EEEE —&— (T

(11) ASSY BILLBOARD W/O DESIGN (LCA-1700UK)

K: | 2 ; 203 m
1 £ & o
Q
=N
(/]
& * ¥ 1o e o
. 1 i
2
1
\® w %
2 g
=
S8 I y
ITEM NO. PART NO. DESCRIPTION
1 LCA-1701UK BILLBOARD BASE
2 LCA-1702UK BILLBOARD HOLDER
3 LCA-1703UK BILLBOARD FRONT PLATE
201 FAS-290045 HEX SKT LH CAP SCR STN M4x6
202 000-T00408-0B M SCR TH BLK M4x8
203 280-6686-01 SP WSHR 4.5x16x4

67

Lindburg. indb 67 $ 2/16/2007 19:12:50‘



L "EEEN

181l sped [

68

Lindburg. indb 68

(12) ASSY CONTROL BOX (LCB-2000UK)

ITEM NO.

~NOoO P OWDN -

201
202

PART NO.

LCA-2030UK
LCA-2060UK
LCA-2001UK
LCA-2002UK
LCA-2004UK
LCA-2005UK

000-P00408-W
012-P00412

DESCRIPTION

ASSY CONTROL BOX UPPER
ASSY CONTROL BOX LOWER
HINGE PLATE L

HINGE PLATE R

SIDE COVER L

SIDE COVER R

M SCR PH W/FS M4x8
TAP SCR #2 PH 4x12

2/16/2007  19:12:51



L "EEEE —&— (T

(13) ASSY CONTROL BOX UPPER (LCA-2030UK) (D-1/2)

(15
Tx
) (e p
@
o I) E:! ] ("” <.-.1] (n':- | ] i
" ' *fﬂ I
(sl 1) e
. -
e )
' )

(I.‘.r 'l‘"l: ot f'-l)

( |l|"'| , \ . ‘\ :|'|

|
:'(L?\ :_."_
Ao T A
. |
|f; ﬂ'-lj T ' " ' ‘
ST * [y L
. i S

|

| o)
|
SR
|
t".l y \
| ':I: *1) |
' A :
{-.’i r |

69

Lindburg. indb 69 $ 2/16/2007  19:12:52



L "EEEE

——

(13) ASSY CONTROL BOX UPPER (LCA-2030UK)

ITEM NO.

181l sped [

OCONOOUORWN -

10

101
102
103

201
202
203
204
205
206
207
208

301

70

Lindburg. indb 70

PART NO.

LCA-2031UK
LCA-2032X
LCA-2033UK
LCA-2034UK
LCA-2035
LCA-2036UK
LCA-2037UK
LCA-2038UK
LCA-2039XUK
LCA-2040UK
SHE-1238
LCA-2042UK

390-6815-WH-V
838-14587
280-5275-SR10

000-P00410-W
000-FO0306
000-P00408-W
010-F00312
000-P00308-W
012-P00308
000-P02610
FAS-680011

LCA-60022UK

DESCRIPTION

CONTROL BOX UPPER
CONTROL PANEL
FRONT LINE

NUT PLATE

END COVER

CCFL HOLDER (

CCFL CAP

DIFFUSION PLATE
INSTRUCTION COVER
INVERTER COVER
SPACER COLLAR
TONGUE RETAINER

CCFL D=15 L=700 WHITE W/V.TUBE
CCFL INV
CORD CLAMP SR10

M SCR PH W/FS M4x10

M SCR FH M3x6

M SCR PH W/FS M4x8
S-TITE SCR FH M3x12

M SCR PH W/FS M3x8
TAP SCR #2 PH 3x8

M SCR PH M2.6x10

FLT WSHR POLY 2.7-6x0.5

WH COLD CATHODE CONTROL

(T

(D-2/2)

OPTION)
(OPTION)

(OPTION)

(OPTION)
(OPTION)
(OPTION)

(OPTION)

2/16/2007  19:12:52



L "EEEN —&— (T

(14) ASSY CONTROL BOX LOWER (LCA-2060UK)

U
Q
=
(7]
.@.:
ITEM NO. PART NO. DESCRIPTION
1 LCA-2061UK CONTROL BOX LOWER
2 LCA-2062YUK SLIDE TONGUE L
3 LCA-2063YUK SLIDE TONGUE R
4 LCA-2064UK TONGUE SPACER
5 LCA-2065 TONGUE SPRING
6 LCA-2066UK TONGUE GUIDE
7 LCA-2067 TONGUE ROLLER
201 000-P00416-W M SCR PH W/FS M4x16
202 000-P00408-W M SCR PH W/FS M4x8
203 050-F00400 FLG NUT M4
71

Lindburg. indb 71 $ 2/16/2007  19:12:52



L "EEEE —&— (T

(15)ASSY ENTRY BOX (LCB-2100UK)

O

15 ° °
e
Q
)
: . O
@Q
@ - - B. Ry eperie) L] - | I =
.7 = =
I p 0% - _ﬂﬁu ":
oo w0
o o »
) ° I
) 6 "y
[==]
S
ITEM NO. PART NO. DESCRIPTION
1 LCA-2101XUK ENTRY BOX
2 LCA-2102UK TONGUE
3 LCA-2103UK CONN PANEL PLATE
4 LCA-2104UK STICKER ENTRY UNIT L
5 LCA-2105UK STICKER ENTRY UNIT R
101 220-5575UK LOCK (J9117) W/IKEY
102 601-11440 STAY
201 000-P00408-W M SCR PH W/FS M4x8
202 050-F00400 FLG NUT M4
72

Lindburg. indb 72 $ 2/16/2007  19:12:53



L "EEEE

——

(16) ASSY ENTRY LID (LCB-2150UK)

ITEM NO.

A WN -

o N o

10
201

202
203

Lindburg. indb 73

PART NO.

LCA-2151UK
LCA-2152UK
LCA-2153
LCA-2154

LCA-2158UK
250-5669
220-5428-09
LCB-2157UK

000-P00408-W
000-P00310-W
000-P00306-W

DESCRIPTION

ENTRY LID

LID FRONT PANEL

FLAT LID (USED WHEN NO CARD RW FITTED)
OPEN LID

PLATE LID HOOK

ASSY REJECT BUTTON L59
COIN ENTRY

STICKER ENTRY UNIT FRONT

M SCR PH W/FS M4x8
M SCR PH W/FS M3x10
M SCR PH W/FS M3x6

(T

s1l sped [

73

2/16/2007  19:12:53



L "EEEE —&— (T

(17) ASSY COIN SELECTOR (LCB-2170UK)

[15] )
| 2
> o205 206
s SR B
7} 10z B
01 101 _ r_
: AP
z - z - o
. 3.3, 04 205
- 1 [ 1
—
. ) P
o . o (
4 22
9
ITEM NO. PART NO. DESCRIPTION
1 LCA-2171UK COIN SELECTOR BASE
2 LCA-2172UK UPPER COIN CHUTE
3 CFB-1683 REJECT SHAFT
4 LCA-2174UK LOWER COIN CHUTE
5 VSC-1474UK REJECT CAM
103 EP1380-R CREDIT BD EXCEL
104 280-L01640-PS STANDOFF 16 MM 4MM PANEL SMALL
201 000-P00408-W M SCR PH W/FS M4x8
202 000-P00308-W M SCR PH W/FS M3x8
203 050-H00500 HEX NUT M5
204 060-S00500 SPR WSHR M5
205 060-FO0500 FLT WSHR M5
206 065-E00300 E RING 3MM
301 LCA-60021UK WH EXCEL CREDIT BOARD
74

Lindburg. indb 74 $ 2/16/2007 19:12:54\‘



(18) ASSY SWITCH UNIT (LCA-2180UK)

“ "6 1017 208
S SRRy S N
- o
e

..... .
(LCD ADJUST BD : B4 L
.'/" - 4 .\
. - . ] o
—— rr 1-:-—-*--'--_.]-.1—-_—:- - .r
an ‘E:n-fEJ .::l.—-.ii"? l:
: K | f | B
e 4 A 2 . e 1 R 2 o
ITEM NO. PART NO. DESCRIPTION
1 LCA-2181UK SW BRKT
2 LCA-2182XUK LATCH
3 LCA-2183UK LATCH HOLDER
4 CTF-1173 LATCH SPRING L
5 CTF-1174 LATCH SPRING R
6 421-12136UK STICKER SW PANEL LCA
101 838-14548-01UK SW & CVOLBD
201 065-E00700 E RING 7MM
202 000-P00408-W M SCR PH W/FS M4x8
203 000-P00308-W M SCR PH W/FS M3x8

Lindburg. indb 75

ot O

0
Q
3
(/]
7
208
LEL
75

2/16/2007  19:12:55



L "EEEE

——

(19 ASSY 1/O UNIT (LCA-2190UK)

181l sped [

00

ITEM NO. PART NO.

1 LCA-2191
2 837-14572

201 000-P00320-W

76

Lindburg. indb 76

DESCRIPTION

IO BD BASE
I/O CONTROL BD 3 FOR JVS COM

M SCR PH W/FS M3x20

2/16/2007  19:12:55



L "EEEE

——

ASSY POWER SUPPLY (LCA-4000UK)

A SN
| 1
AN 2
ITEM NO. PART NO.
1 SHT-4904
101 400-5457-01
201 000-P00308-W

Lindburg. indb 77

i
Vi
) ey AT

e OO0 00 o

Fai)

DESCRIPTION

ELEC BRKT

SW REGU ATX/JVS AUTO

M SCR PH W/FS M3x8

s1l sped [

2/16/2007  19:12:55



L "EEEE

(21) ASSY SUB ELEC (LCA-4050UK)

181l sped [

101

ITEM NO.
1

101
104
105

201
202
203

301
303
304
305
306

78

Lindburg. indb 78

105

104

PART NO.

LCA-4051UK

838-14515-A0191
838-14551
400-050-024-01

000-P00308-W
011-T03516
011-P00320

LCA-60007UK
LCA-60010UK
LCA-60012UK
LCA-60026UK
600-7158-0200

ooooooog
ooooanQaog
A Eaai—

DESCRIPTION
WOODEN BASE SUB ELEC

SOUND AMP ANALOG IN
DISTRIBUTION BD
PSU 24VDC 50W MW LPS 50-24

M SCR PH W/FS M3x8
TAP SCR TH 3.5%x16
TAP SCR PH 3%20

WH AC SUB ELEC SW REGU FOR AMP
WH DC SUB ELEC SW REGU FOR AMP
WH SPEAKERS

WH AC DIST

CAAUDIO RCATO RCA 2CH 200CM

E; 2/16/2007

19:12:56



L "EEEE —&— (T

@ ASSY CONTROL PANEL 2L6B (LCB-2500UK)

U
Q
=N
(/]
() (o) 2
o %@ o
o ° o
ITEM NO. PART NO. DESCRIPTION
1 LCA-2501UK CTRL PNL BASE 2L6B
2 LCA-2502UK CTRL PNL PLATE 2L6B
102 509-5765-01 SW PB D24 YELLOW
111 610-0404-01 ASSY 8 WAY JOYSTICK GREEN
112 610-0404-02 ASSY 8 WAY JOYSTICK PINK
113 509-5755-01 SW PB D30 GREEN
114 509-5755-02 SW PB D30 PINK
115 253-5185UK CAP SW 30PH
201 000-P00412-W M SCR PH W/FS M4x12
301 LCA-60023UK WH CONTROL PANEL 1
302 LCA-60024UK WH CONTROL PANEL 2P
79

Lindburg. indb 79 $ 2/16/2007  19:12:56



L "EEEN —&— (T

I3 Wire color reference table

The wire color codes used in the overall wiring diagrams in the next chapter are as stated below.

CODE WIRE COLOR
16) 10 RED
s 20 BLUE
3 30 YELLOW
8 40 GREEN
] 50 WHITE
g., 70 ORANGE
§ 80 BLACK
3 90 GRAY
g A PINK
® B SKYBLUE
C BROWN
D PURPLE
E LIGHT GREEN

Note 1 If the units digit of the code is non-zero, the tens digit indicates the background color and the
units digit indicates the spiral color.

E.g. 51... White/Red

RED WHITE

Note 2 The letter after the wire color code indicates the thickness of the wire.
U: AWG16
K: AWGI18

L: AWG20
None: AWG22

80

Lindburg. indb 80 $ 2/16/2007  19:12:57



m Overall wiring diagrams

81
19:13:0§

2/16/2007

B

A

Overall wiring diagrams (D-1/2)

- < = .
(0% (@) (o) (=)
(™ e T e e
g £ £ £
[
: . =k - £
-LL LR s NEIRFAENEYF-
a LRy VRV ER R RV EVA T VATV = =
Akl AR 2=
A BIE|EZIEIZ 2|2 E|E R
HE]
g
- _ 7 =
us =
= by = =
z g - x
4 : ) il o 1¥0-ASOA-¥L9ZW
£ il b = dv YIND DWW
- £ E (IR HM 10-8615-02¢
14
M
=1 066666
€8 [ —OV18 || | ¥3LIN NIOO
o LT aa
|
ILIHW
X3 10N
AE &+ 1 4
A+ fei]l +—
now T 1M0L
As+ [l 1504
AL+ uw\\\mmm\
AT+ u\\\\wmm\
Az fo [0
ano
aNO 0 | 1508 | v SAP
AN s | e 0/1 SAP o/t
avo b | S \A | sAr
avo fe | e
ano e | 1]
ano [ [ ==
LT si08
m
I ENO/3LIHW
10373 @NS ASSV  060v-VO1 - X3 10N
| +
| At £r 2 {Ger# Zo0rn)1d ILTHM
! 01009-¥01 P e B (CLEA IR |
” o i IOF L00rnE s e
3 Y R D 60009-VO1 | - F——{(91# Loo1In)>a sal——]
ey ) Py e g el i = El = == o == aND tot 911 ONO
EEEEE | 4 ZZ|am alal E|Z ano [ J(9k# L00FIM>E E\H ano
- N [ . (91 £0011M)Xa N ——
.f f..f.c.ﬁ:. - — N R I Ll i [l N R Nl o - ano [ 1 ) t[ri]ano
L =T 1= = , E ks T ks Eg o o coormye [ | a0
EEEEEE =z ” i it CER FR o O coore [ | e oo
LE|E|E|E|E[E 3 m = 'TEE ** @@ B F-(or# cooimya | | af—
= i o roar x WWJ aND {11 114 AND
= g ENO/ (TA) HM 2o s 2 2 ases [+—JOTF ZooryE || S oo
; = o= E4 J(e1# Loorn)id Sa—
dy - g L SHAE B+ o wac%\o BM_._:Eozﬁ_o o) SUAETE
= o — - - e [ 1 18]
= = = W & i o >\N,mH - (oroMY 2001 MNOTIIA || »MT
- w el — = 2w B3z Azt bl (oW coomad -0
Lo T W mo 27 T F4—T(e1OW L00TNMOTIIA ]
B o & P s o o s AG+ [s o] AG+
= 2 P56 G- %= ki oo nzra o Corow coorimam 00
= Efc L = v T E ? Ear u ey B (81OW L00IIMNMOTIEA [ 0
158 = e B id ThE = nora 1 Coraw coorimam | 10T
! =z = zlz RG] .u_.nm o A= Azie Ll COTBMY L00ITIMIMOTIEA [ o
== L3 =z s wu. i E L (91omv £001TMMOTI3A L
¥ soodt=te ETOTE 38— il wa_ " 82009-v01 |
x T " : Ele L i |
" = 3= = - ' P tlgd =i IND/3LIHM ILTHW
1 = 3 B L &z & I : X3I0N XJI0N
- | = = == r
I e[ _|™-Ew -i_=- " [T m m m m 5F &= & OO 14 —rgramy zoormovia L I
= == = == i a a bbb e - 3T 1 AG+ ez £z NG+
= E|E m = W L, A, & os o] (OIOW L001TMa [
_ ” Llgs RAL Fa Ak oornad
2 5 Ty | IR ASH 1 Mw”%« »NWT:WBM o) AG*
= §2009-¥01 & gt m ninfngnl=a P 5]
a ol | e e ]
3 = tez o= | P = mnw = (9roW Lo0rin)Yovia | mnw
< =4 = " o il (SO L00IIM¥oVIE [ oo
e 7 , e ] (9roMv LoorInyyovia ——
3 e 4 (Hm #N0"sd [o] | o o] #No"sd
" - - RG] w 10010V >w7”w W\ (91oMY £00+IN)X0v18 \W m_%\
2 v 1 Avorov e e [P (81OWY cooiImanTE £ o
|M — b E A B\ s A6 e+ o] (91DMY £001TN)NMOUE ol e ee
= b= HE L= A Az (910MY £001TN)NMOUE | AL+
E|E e = m o Azts [l ]_COTOMY LOOIMMOTIIA [ '
= T2 To4 E g E4 1 (o1oW 2001 TMMOTIEA ]
g - e r = w " - & 888+ 10 L T grew roorimoiNid || 858
£ 22 5al_ m LA - = = z = o umd [e o6 5] 0 umd
2 1= ool = o - : : = awo T L o
2 = EE ey SR P ¥ X @ = = " >mw 1 (9ToW 001 Tn)YoviE || >mw
= wrr_.m \me@m M 28 = A 2 z o (oMY L0 maR [ (o
g [eOR g ; e O o9
Z = e s
o 4 >%7m_w = (1o [00rn)YoviE || m_%f
08 & Ko gs [T (OTOMY LO0ITMNMOHE | [
M0 i = LT (oromv Looitmwwosa L ™
b = : :
Z = = m 82009-vO1 " =
) ] g g L A1dS dMd ASSY m m -
= : _ | | T
s RCEIEEHEEEE 3 0007-YO| o v £is
; = = =Y -
E|E|E .m. z g ; &.@
=l -z e 1 |
R " T & ol 0002-600£-009 ; 3LIHM YOy -
ZITE| L 2 £ =|= =|z Il E "m,um. T dNnos
: J-f E G £ HE -
TRAE - = Lt il b PP |
TR - A — = - z |4 uIIVIAS ASSY 0991-VO 1100 03aIA
Tyl - = Z o " dsians-a
- - ZzEEZZER r T » ox el , = pled
c 2 o = = [ r r g (A H _ =
3 g FE°cREsE & ) f :
I noon :
5 e & 73 - 16 % ova oo "
i = = ML L RENI = i
o - = : ,
& W & | g | ”
= i & £ h |
= tE Bx 4 , "
o E il (LA ‘ o | NIVW 3SvE NIAOOM
sl £57 z ,
5% = gTa 566 - V18 MHQ q & , £000-YOT
= :.u.w.._w... o g N a3 =
: < (B2 mi |
i G o] "t 1 ¥3IMVIAS ASSV  0691-VOT

81

Lindburg. indb



m Overall wiring diagrams

19:13:13

82

2/16/2007

]
(Ws)dg
A
N R -1
= T B
HE ] 56
TE o] fve—
w# A1
b el e
P A
o e
_o\‘ T
|
(NS)HM
fL 158
a ‘Ll Tss
N -9
: | Tor
mm g 1A
2w ]
Mm - A
-B o]
— ST
T m” LCA-60031(OPTION)
CIEl
,
(TA)HM
L°Tor
. ‘1ot
[ s e
B S teg = = = | | | | ~ = 1= 1 1 | |
m:. ] = =] e = x| = = e = e = =5 =5
T 1o 70606600000 0000000000000 00 Ofgg
w ko e B R R e
o TR EEEEREESEEEESEEAeREa R
; —
ok AN T
I leng " @l -] aa -] ]
! Idogvd 4 ERE] LR 44 - 1=
Aﬁﬁm Qoo [AZL+ W $
T ¢X08 O6s AT+ 6ND
¢X08 ] ] ZX08 O |AZL+ dozv|]
¢X08 | C¥08 ————5 1O L s AL+ AZt+[ 020
— ¢X08 | ¢X08 ———5g1O s | 9 IndLnO AZL+| 610
[ ¢¥ot —5 1O € Lno 02 LNdLNo| s 1 O
_ _ e €0 L 81
oMs ) C_m §6L5-609) 198 ————¢g1O v s | § Indlno 61 LndLno| .1 O
oS omow 65 65—+ 68 ——57 1O | (1I0S LQ¥YO)Z LNO 81 LNdLno| s 1 O
08 8§ 86— 8¢S —35 10 (*170S zZadvo)¥ 1No L1 LndLno| s 1 O
- v mo Z6s Sl
Mﬁm owom\ Ls L8] TX18 ———7 1015 | | 1no 91 LNdLNO| v 1 O
o NS owo\ SL SLH=1 5t ggTO o0 s | ¢ HILAN §1 1ndLno| ¢ 1 C
b s 08— i SV 57 £gTO 6 v | L ¥ILAN 1 INdLNo| ¢ 1 O .
08— ¢ $2009-VO1 Sel L Tge Oev | 8MS dZ €l LndLno| 1 1 G M_l
m | Oy | 8MS dI Zl 1nd1no| o 1 © mm
& dS HN | (Ws)vg Oy |2 NIOO 11 1ndino| ¢ O @2
T 1431 ¢ Cfgy o1 1o Z51O s v | | NIOD 01 Indino| s Of -
1HDIY|| » Ofgy v’ Tov Ovy |MS LTIL 6 1ndino| . ©
AVHD VA dn|| ¢ Cug sat° | =g SafO v | MS 1s3L 8 IndLno| s O
MO1LSAOP NMoa|| = Ofgg st t=3 Oz v | I0INYIS de L 1ndino| s ©
wl_\;wowme_@ ano || + Ofgg ogttl Tog 77O 1 v | I01AY3S dI ano| v O
- - I [ Oov | LMS dT ano| ¢ O
f 08| 708 as
' Os6c | LMS dI ANG+| z O
Lavs | | yz009-vol seb e 75
o ! ) oMs de As+| 1 O
(10-9626-60G) 08— o W ee-er -
A ,vIsS TS O e | IMS dI
— e gcTO o ¢ | (ASNE QuVO)SMS dZ
[ [“1zx08 Z5TO s ¢ | (ASNE QuvO)SMS dI
X08 || ‘T Zx08
¢X08 | ——75 1O v ¢ | (ISNIS QUVO)¥MS de
¢X08 ] ZX08 —75 1O ¢ ¢ | (ISNIS QUVO)vMS dI
g S R 7O s | EMS d2 oNO
—— ¢xot oL 1O+ ¢ | EMS di v SAP|!
(11-56£5-606) I — Soc | zMs dz
oms 052 —C 3 Tl |°TET LI D O/1 SAr _Hg
SMS 08— 75 75 1°12S % Osc | IMS dT
@ MS 52— TS TS |"TZxT% MM Oz | IMS dI
o €
TR MRM e 080 0L 0L} 0L 53O 5« [NMOT 2 ¥ND -
)
' - IMs Ll 0¥ 1 OF O s ¢ |NWOa dI a w>J i
08<L— 0¢ £2009-VO1 0¢ TR 0¢ sq1O v @ |dn d2 0/1 SAP _ I,m
o mm | arO ez |dn dI
F & ds AN (WS)HIn 5O 7 1431 d2
[ 1437 ¢ o) 51t T 5O e |1437 dI
= LHDIY || » Oty viel +v v TO 0z [LHOIY d2
g AVHD VA dn|| = Og gt ta v1O 6 1 [LHOIY dI
= MO1LSAOP NmMoal|| = Org T 3 g0 s 1 |LaVLS dT
=z AVME ASSY ano|| 1 Clyg . FTO L1 |LuvLS dI ™
= 0L-v0¥0-019 I
— o f 08 1% 108 08O 0+ |AND DW
| O 1 |aND NOE =
i L4V1S | [ ez009-von 58 08 noORE
LY (10-95.5-605) 08— g oy ogfOr 1 |aNo Emc.m
g 0O c 1 |aND TEwN
a 08O ¢! [AND | Tulﬂ_ o
= 05O+ 1 |aND ﬂm g
[ we-ovozi-s | (@I - ogTO 0 1 |aNo moEC o
d€ H8 " NyA313 ANI 1400 de Hd v w O & |aND [l L
¢ L8SY1-8€8 1108 z 08 & aNo || s G
aNo € € O 8 |AG+ =
P 08 ZX08 || 108 = or - ao || , o|E
L 1400 || z O e m oTTO ¢ A+ mom
AL+ || 1 ' —T O ¢ |AS+ -
3 i 0t 22009-v01 05 @ o s [nar R || e all
0 AT L+ o=
el B O v |As+ —
i e = O s |AG+ zrE 8 |
Nid 38N A/M HI |8 2 2 S age Tras |
00£=7 S§1=a 1400 _,_I _,ﬂ _,_l o AXT+ |
A-HM-G189-06¢ = oT 1o ! L. ,
aLikm ¥3ddn XO8 TOYLINOD ASSY g e 2 | I P |
== = = | 0000 )
0€0¢-VOl . (Q3AY3SIY)
3
|
[=]
= = |kl of o
- = - = E R ~
. gl=| | E|E .
w MESERET- Br|=EE i .
NN o000 Ok [T
8 £ & B
- N AFREE S w
mm mm SEAAE
el el L T
e [F - [E m.n " _qu
= = —~ = = ol
] - ol |-
] = F e s =5
[r t - = |2
z : By g g
| dl ol
= o M o-lE 5
W e o Y
= s -
= LU
w s
m =z
= =
o 3 g | B
o g ¢
= = L =
i = i
< ) % G g 04
=
=5
= = = =y =
= = o
m = m WE ”.
[l - . [l
1 M,_ M,_ a 1
R R
& = = &
a - - a
— o L] =~ L% =]

(D-2/2)

82

Lindburg. indb



